A

N\

e pe— APRILIA RSV4 1100 2017-2020> DELTA
T?MIIIU' RACE

I TALIAN 5TYLE]

Sl

Partioriginali
Original parts

Partioriginali
Original parts

# DESCRIPTION PARTNUMBER | QTY
1| Fascetta @ 60/63 mm / Pipe clamp @ 60/63 mm 50.FA.010.1 1
2 | Tubo diraccordo / Link pipe 9773A016S2 1
3 | Silenziatore / Muffler  dB killer 50.DK.123.0 Delta Race @65 1
4 | Molla media / Mid-size spring 50.73.359.1 1
5 | Tubo in gomma per molla / Rubber pipe for spring 50.73.210.1 1
Cata/ytl'c Con Verter 6 Staffa / Bracket 50.55.1334.0 1
7 | Distanziale in alluminio / Aluminium spacer (@e.30 #i.8,5h.20) | 50.55.056.1 1
b i COd' ACC 04'5"4] 8 | Staffa/Bracket 50.55.1293.0 1
' Optional for A.016.LDRC 9| Vite M8 x 16/ Screw M8 x 16 50.73.0%. 3
]’nc/uded nA 0]5 /(DRC 10 | Rondella disicurezza / Safety washer 50.73.604.1 3
11 | Vite M8x30 / Screw M8x30 50.73.219.1 1
12 | Rondellain alluminio / Aluminium washer 50.73.857.1 1
13 | Dado M8 flangiato / Flanged nut M8 50.73.393.1 1
ATFENZION;: ‘La.gmt?zwonde. del r\dut‘t’pre .d‘ rturrgjgre e.con\sw.derataf.una manolrlrw\sswo;e de\\\\mp\antot(.i‘\. scatmco ‘che comtporta la perdita dell'omologazione per utilizzo stradale e della garanzia prodotto. In caso di APPLICAZIONI / APPLICATIONS
rimozione del riduttore di rumore I'impianto di scarico & in configurazione “racing” e puo essere utilizzato solo in pista. " — -
P 8 P P Codice / Code| Silenziatore / Note Tubo / Pipe
AO16.1DRC CARBONIO / CARBONFIBER | CATALYTIC CONVERTERNOT INCLUDED
WARNING: Removal of the noise reducer is considered a tampering of the exhaust system which entails the loss of both the type approval for road use and the product warranty. In case of removal of the noise INOX /ST.STEEL
reducer the exhaust system is in "racing" configuration and can be only used on track. AOT6KDRC CARBONIO / CARBONFIBER | CATALYTIC CONVERTER INCLUDED




